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9.4 Operations with Functions

Notation for Function Operations

Operation ‘ Notation
Addition (f +8)) = flxy+g(x)
Subtraction (f-g)x) = f(x)-g(x)
Multiplication (fe)(x) = f(x)-g(x)

Division (fj( x) -I% where g(x)# 0

£la(x)) = (foq)(x)

e The composite of 2 functlons fand g is the function f g(x)), which is read: “fofgofx.
D,

¢ You write ([ g){(x), which is read “the cg*fnposﬂe of f and g

e Tofind (f°g)(x), you find g(x) first and then find f{x) for that value.

The Composite of 2 functions:
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